

TEORIA DE EXPONENTES

1.- Completar:

$$5^8 \cdot 5^6 \cdot 5^2 = \boxed{}^{\boxed{}} = \boxed{}^{\boxed{}}$$

$$\frac{9^8}{9^6} = \boxed{}^{\boxed{}} = \boxed{}^{\boxed{}} = \boxed{}$$

$$\left(\frac{1}{5}\right)^{-3} = \boxed{}^{\boxed{}} = \boxed{}$$

$$\left(\left((7)^1\right)^2\right)^1 = \boxed{}^{\boxed{}} = \boxed{}^{\boxed{}} = \boxed{}$$



2.-Relacionar:

$$\left((5)^9\right)^0 + \left(\frac{1}{4}\right)^{-2}$$

$$\frac{7^{11}}{7^9} - \frac{6^{41}}{6^{40}}$$

43

17

$$(10^7 \times 10^9) : 10^{13} =$$

		:		
		:		
		:		
		:		
		:		
		:		
		:		

$$\left(\frac{1}{5}\right)^{-2} + \frac{8^{16}}{8^{16}}$$

		+		
		+		
		+		
		+		
		+		
		+		
		+		

